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Question Number : 1 Question Id : 47163916708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
which of the following options is a wrong statemernt?

Options :
4. % 2004-2005 is the base yvear for the calculation of whole sale price index

Question Number : 1 Question Id : 47163916708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 2 Question Id : 47163916709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

As per NS5O Survey 73 round for the period of 2015-2016 approximately , for how many people
unincorporated non-agricultural enterprises are providing employment opporturities?

Options :
2 % 11 Crores

Question Number : 2 Question Id : 47163916709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
5 ¢ 1158 Hods

Question Number : 3 Question Id : 47163916710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
If borrowangs and other liabilities are added to the budget deficit, what is it called?

Options :
4. % Fiscal deficit

Question Number : 3 Question Id : 47163916710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 4 Question Id : 47163916711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which of the most power ful and widely used tool of monetary control by Reserve Bank of India?
Options :

2. % Open market operations

Question Number : 4 Question Id : 47163916711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 5 Question Id : 47163916712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what is the percentage of Indian population {in 2018) in the total world population?
Options :

2. % 17 8 Percent

Question Number : 5 Question Id : 47163916712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
5 o 289

Question Number : 6 Question Id : 47163916713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

According to International Labour Crganization (LO) what is the age-wise composition given below is
considered as demographic dividend 7

Options :
1. ¥ Population in between 15 to 64 vears

Question Number : 6 Question Id : 47163916713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 7 Question Id : 47163916714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In India power plant load factor is the highest in ?

Options :

DELETED



Question Number : 7 Question Id : 47163916714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 8 Question Id : 47163916715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Amemng the following options what are the iterns that are included in the Ealance of Current Account?
Options :

2. ¥ The difference between value of exports and imports of goods and services and unrequited transfers

Question Number : 8 Question Id : 47163916715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 9 Question Id : 47163916716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In which of the following, 100% foreign Direct Investment is allowed?
Options :

4. ¥ all of the given options

Question Number : 9 Question Id : 47163916716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 10 Question Id : 47163916717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Matural rate of interest is determmined by

1. ¢ Intersection of savings and investment curves

Options :



Question Number : 10 Question Id : 47163916717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 11 Question Id : 47163916718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

For which goods, consumer surplus is the highest?
Options :

1. ¢ MNecessities

Question Number : 11 Question Id : 47163916718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 12 Question Id : 47163916719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If GDF is Rs. 24000 Crores and MNet Income from Abroad is BEs. (=) 4200, then GNP is equal to
Options :

2. % Rs. 24000+(-4200)

Question Number : 12 Question Id : 47163916719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

. 534,000 + (-4200)

Question Number : 13 Question Id : 47163916720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

EBaseal iii has suggested the banks to reduce their leverage ratio in order to strengthen their capital
requirements. What does it mean’?

4 Lending of the banks are increased & Capital reserves with the banls are decreasead

Options :



Question Number : 13 Question Id : 47163916720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

L DR VTR 2 OO 3 @0FeD TR BEOAL WS OW.

Question Number : 14 Question Id : 47163916721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which of the following statements is wrong ?

Options :

1. ¥ Unemplovment which can be eliminated by cuts in real wages was defined by Keynes as involuntary
unemploynent.

Question Number : 14 Question Id : 47163916721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 15 Question Id : 47163916722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
What is the main objective of establishment of International Finance Corporation JFC)7

Options :
1. ¥ To provide finance to the private sector

Question Number : 15 Question Id : 47163916722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

05T BAD 308 58 IBAS (IFC) & (DS GBF 08 00NV ?
Options :
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Question Number : 16 Question Id : 47163916723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33
From which year International Monetary Fund (IMF) started functioning?

Options :
i WP March 1°* 1947

Question Number : 16 Question Id : 47163916723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
i 23°0)) 1, 194755 S0Se3)50.

Question Number : 17 Question Id : 47163916724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The appropriate expenditure - Switching policy to correct a deficit in the balance of payments?
Options :

1. % Devaluation

Question Number : 17 Question Id : 47163916724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 18 Question Id : 47163916725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Under flexible exchange rate systern, the exchange rate is determined by?
Options :

2. % The forces of demand and supply in the foreign exchange market

Question Number : 18 Question Id : 47163916725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 19 Question Id : 47163916726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The term ‘Seigniorage’ refers to

Options :
1. % Profits earned by central bank by iSsuing currency

Question Number : 19 Question Id : 47163916726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 20 Question Id : 47163916727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
which of the following staternents is not true ?

Options :
= % Money has direct utility [ addition to having purchasing power

Question Number : 20 Question Id : 47163916727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 21 Question Id : 47163916728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
which of the followirng is not an asset of comrmercial banks 7

Options :DELETED

Question Number : 21 Question Id : 47163916728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 22 Question Id : 47163916729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

AT IMpPOrt quota is a7y

Options :

1. % Quantitative restriction on the amount of Irports

Question Number : 22 Question Id : 47163916729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 23 Question Id : 47163916730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

After merger with Dena Bank and Vijaya Bank, Bank of Baroda replaced the following Public Sector Bank as
the second largest PSU bank in India.

Options :
2. % Punjab Naticnal Bank

Question Number : 23 Question Id : 47163916730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 24 Question Id : 47163916731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

In the foreign trade of a country which of the following must always balance?
Options :
4. ¥ The balance of payments

Question Number : 24 Question Id : 47163916731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 25 Question Id : 47163916732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which organization provides loans for correcting disequilibrium in the Balance of Fayments?

Options :
1. % IMF - Internaticnal Monetary Fund

Question Number : 25 Question Id : 47163916732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 26 Question Id : 47163916733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Inn general which kind of 1oans is sanctioned by World Banl?

Options :
4 v d Medium and Long Term Loans

Question Number : 26 Question Id : 47163916733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 27 Question Id : 47163916734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The month and the year of the 8" round of Multilateral Trade negotiations popularly known as Uruguay

round started?

3 « September 1986
Options :



Question Number : 27 Question Id : 47163916734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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D T, &) H03653550 TN ONSE?
Options :
Vo5, 1986
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Question Number : 28 Question Id : 47163916735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Ir1 which vear International Developrnent Association was established?

Options :
2.9 1960

Question Number : 28 Question Id : 47163916735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
5 ¢ 1960

Question Number : 29 Question Id : 47163916736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Wwith what Dunkel Draft is associated?

Options :
1. % Multilateral Trade agreements

Question Number : 29 Question Id : 47163916736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 30 Question Id : 47163916737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which of the following country has received an invitation for G- 7 Surrumit to be held in France in August
201387

1. % India

Options :



Question Number : 30 Question Id : 47163916737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 31 Question Id : 47163916738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what 15 the rank of India as per IMD World Competitiveness Rarnlkings 201397
Options :

4. 9 43

Question Number : 31 Question Id : 47163916738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
4. 43

Question Number : 32 Question Id : 47163916739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The terms “WannaCry, Petya and Eternal Blue' refer to-
Options :

3. ¥ Cyber Attacks

Question Number : 32 Question Id : 47163916739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
% | S (WannaCry), 20¢3¢ (Petya) «00050 '"Q@8)0 d© 2X™ (Eternal Blue)
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Options :
o 0 e

Question Number : 33 Question Id : 47163916740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Fill in1 the blank
glass is used in manufacture of lenses, prism and other optical instrurments.

1. ¥ Flint
Options :



Question Number : 33 Question Id : 47163916740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 34 Question Id : 47163916741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Steradian is the unit for-

Options :

1. % Solid angle

Question Number : 34 Question Id : 47163916741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 35 Question Id : 47163916742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The Reserve Barl: of India has said that banlks can now use _________ for KYiZ werification if the customer
gives cornsent.

Options :
4. % sadhar Card

Question Number : 35 Question Id : 47163916742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 36 Question Id : 47163916743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

which country has decided to invest Rs 13,000 crore in different states of north- east region”?



Options :
2. ¥ Japan

Question Number : 36 Question Id : 47163916743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 37 Question Id : 47163916744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which among the following is the tagline of Andhra Banlk?
Options :

1. % where India Banks

Question Number : 37 Question Id : 47163916744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 38 Question Id : 47163916745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
who has been appointed by Bombay Stock Exchange as first independent worman Director?

Options :
1. % M. Jayshree Vvas

Question Number : 38 Question Id : 47163916745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
£
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Question Number : 39 Question Id : 47163916746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Match List- I with List- IT and select the correct answer codes given below the lists-
List-1 List-1I

a. Narasimhan Committee 1. Public Expenditure

b. Raghuram Rajan Committee 2. Monetary Policy

¢. Ut Patel Committee 3. Banking Reform

d. C Rangarajan Committee 4. Financial Sector Reform
Options :

3¢ a3 b4 2 dl

Question Number : 39 Question Id : 47163916746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
a-3 b-4 c-2 d-1
3. ¢

Question Number : 40 Question Id : 47163916747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Who has taken oath as pro- termn Speaker of Lok Sabha?
Options :

1. ¢ Virendra Kumar

Question Number : 40 Question Id : 47163916747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

TOD DYEOT 5°E602e5° PO BB JDW ?
Options: 1. V' 560@ S

Question Number : 41 Question Id : 47163916748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
MNarme of the Indian engineer who wins innovation for Sustainable Development Award.

Options :



2. ¢ Nitesh Kumar Jangir

Question Number : 41 Question Id : 47163916748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

QT DD DO DDV GO 2ot ¢ (Innovation for Sustainable Development)
d 8

06 FoBD oD R0BAD D ?

Options :
, @ BA A6 A6

Question Number : 42 Question Id : 47163916749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Select three figures out of the following five figures which when fitted into each other would

form a square.

|

% o L] EN

A B C D E

Options :
> « A B&E

Question Number : 42 Question Id : 47163916749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

& 306 &0 5BV, D HPE 35BN SIDA, VSO BED HWoB ?

—

N o £ | L%

A B C D E

Options :
> A B&E

Question Number : 43 Question Id : 47163916750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Dz, EFE, GHG, 11,

1. ¥ KLE

Options :



Question Number : 43 Question Id : 47163916750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
CDC, EFE, GHG, IJI,

Options :

i & KLK

Question Number : 44 Question Id : 47163916751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Feter is in the East of Tom and Tormn is in the North of John, Mike is in the South of John then in which direction
of Peter is Mike?

Options :
2. ¥ South-West

Question Number : 44 Question Id : 47163916751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

D06 D & Ardy BLYD, P, O 3 BTN &T) M. PS5, T 3 BLF &I .
DD, DF, DG £ D AL &I O ?

Options :
é =5
y G260 039‘)51)

Question Number : 45 Question Id : 47163916752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

MNumber of Cities with more than 1,00,000 population in Andhra Fradesh in 2011:
Options :

4. 9 32

Question Number : 45 Question Id : 47163916752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

€503 AT &° 2011 DODBG0ES” VL ET°), JEYD BT &) JIT°eL D) ?

Options :
4. ¢ 32

Question Number : 46 Question Id : 47163916753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what was the percent urban population of Andhra Pradesh in 20117

Options : DELETED



Question Number : 46 Question Id : 47163916753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

2011 DodeG0eS* €508 DA €5° DL BT T30 Jodd ?

Options :
OoUoooooododd,

Question Number : 47 Question Id : 47163916754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what is the average per cent cortribution of different sectors of economy to the state income of Andhra
Pradesh for the triennium ending 2016-177

Options :
4 Primary-20%, Secondary-19%, Tertiary-42%

Question Number : 47 Question Id : 47163916754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

2016 — 2017 700&303006‘ £900D0TY, SNPE) VODBNT® 570 J§DAS VoeoBod),

€308 VBT T°RoeS’, DDG GOt SToBTPIAD, DALDS, €388 GorrIS e &od ?
Options :

D08 — 30% . 2Bocd — 19 %. &4

: 6 -42 %
4 =

Question Number : 48 Question Id : 47163916755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The districts in Andhra Pradesh which in 2011 were less urbanized than All- India average inn 1391, that is,
22 87 [pEr Cent.

Options :
=3 L orikalularm, Prakasan, West Godavari, Yislanagaran

Question Number : 48 Question Id : 47163916755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& 300 &) ©0g P33T Ty BT, D Bgren, 1991 VoSG 20 B33

20e0 3)%3)8350830. 90T 22.87 %, 03, 2011 ¢5° S ET) oW ?
Options :

| 35°E0%0, 5730, DI HTrHdd, DRADHACo.
v

w

Question Number : 49 Question Id : 47163916756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



2001 — 11 20 || 570 D500e5° . 23708 B30e5°. D DTS T-RO DOBD 225720 DAMDGR’ O

Options : X~ Sood ?

3 o TeTerok

=

Question Number : 49 Question Id : 47163916756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The only Indian state to record a small negative growth rate of population during 2001-11:
Options :

2. ¥ Nagaland

Question Number : 50 Question Id : 47163916757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which armong the following is the highest form of regional economic integration?
Options :

2. % ECOnormic union

Question Number : 50 Question Id : 47163916757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& 300 o8, DB, IO Jrow, * FroBOD S VMEYD ArdoTT ‘ &od ?

Options :
- 2DET°S AP

Question Number : 51 Question Id : 47163916758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Select the correct sequence of REl's Regional Office in ascending order of total flow of Foreign Direct
Investment (FOI) from April, 2000 to March, 2015 in India (RS in millions)

Options :
1. % Murnbai, Mew Delhi, Chennai, Bangalore

Question Number : 51 Question Id : 47163916758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& 300 &J) ©56.0D.0 FoSoH STV, DB DD T8 Daoes’... RS 2000 o)

a8y 2015 HOLD, BT E0085° , Eomrdy DY, IO VBID § SO ?

Options :

L 080D , AEY, 3 . Sorwr.

Question Number : 52 Question Id : 47163916759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33
which of the following is the top export destination of India?

Options :
2. % the United States

Question Number : 52 Question Id : 47163916759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& 300 or3eS°, G GFAS, BAST DavEeD SaDErIS, nmsg*’borv &od ?

Options :
SPebloloy

(WA

Question Number : 53 Question Id : 47163916760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In which group of economies| selected groups, ‘Services’ account for 3 4th of the nominal gross value added
by eCOnoImic activity

Options :
4. ¥ Developed economies

Question Number : 53 Question Id : 47163916760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

D €385 HIDYO VAFET0 FT® JoZN VAW , DT Goffo T TG PO

e35°0%) Denaed’, ¥ Hoesorr es8%o GoioeS® Eotod?

Options :
£ L
g, COOD & JSCDR

Question Number : 54 Question Id : 47163916761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

AS per a new order by REI in June 2019, the banks cannot keep ATMS out of cash for more than
hours, doing which will attract penalty.

Options :

2 ¥ 3

Question Number : 54 Question Id : 47163916761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
@ 2019 , §0 ¢6.9.0 5330 95°00, 2.8.00 1PeS* , DY Do eorowot, VY

(fotren oS0 , ciwaw (3-8 e e.oc:a::n!) ?

Options : 2. ¥ 3



Question Number : 55 Question Id : 47163916762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The Chief Minister of which state has launched the State Transport Corporation’s Chalo app in June 20197
Options :

1. % Assam

Question Number : 55 Question Id : 47163916762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

@r® 2019 Do|| &°, D T°Q Ay 0B, T°5 Cavte S°5FAN &7,  ©9e5° ard &,

P G0Doea ?
Options :

J
1‘\/9.‘) .30

Question Number : 56 Question Id : 47163916763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which of the following country introduced the systerm of “Golden Card” Visa?
Options :

2 ¥ AR

Question Number : 56 Question Id : 47163916763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& 300 d7erS’, D B30, HTD 570 DF ‘ PD? DGod ?

Options :
0 @ OI0.D.Q

Question Number : 57 Question Id : 47163916764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
‘Basel Accords’ is associated with -

Options :
= ¥ Banking

Question Number : 57 Question Id : 47163916764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
‘ ePed @s"gb * (Basel Accords ) 3e5° 90200008 ?

Options :
5. o ergoSoh

Question Number : 58 Question Id : 47163916765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Options :
which bank was fined Es. 7 crore in July 2019 for non- cornpliance with the directions issued by the REIY

2. % SEI

Question Number : 58 Question Id : 47163916765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

arg. 2019 Dol | &° , D ergodDn SUeTal NI FE0cN00EIL, €36.D.0, 7 §8 rarone

2007°0° T° DOOIED OB ?

Options :
5 @ DD (SBI)

Question Number : 59 Question Id : 47163916766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Wwhich comparny is the 4th valuable Indian Private Internet Company in India?
Options :

Z ¥ Evju's

Question Number : 59 Question Id : 47163916766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

208 33065°, PO QOITYE Goioe” , 4 O OB DEVPD VOYTE , D VoY &oBd ?

Options :
5. o BETR

Question Number : 60 Question Id : 47163916767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
President Eam NathEovind has appointed BiswaBhushanHarichandan as Governor of

Options :
4. sndhra Pradesh

Question Number : 60 Question Id : 47163916767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

OPQDA TG ED0b, DFEPRD 38908 O & (10 O D o°aPd3 DADLAOT W ?

Options :

v 2300 AT

Question Number : 61 Question Id : 47163916768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Who invented the World Wide Web (Ganana’?

Options :



2. % Tirmn Berners-Lee
Question Number : 61 Question Id : 47163916768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

H0Y PE D& (W.W.W) & EJDPIG dDAL?

Options :

A0 86163-3)
3 ¢

Question Number : 62 Question Id : 47163916769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Classifying content in social media happens through an activity such as
Options :

4. ¥ Tagging

Question Number : 62 Question Id : 47163916769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& 308 o763’ D SN V05 AT DHoITEOD agsooac:o 2010008 ?

Options :
v erHoh

Question Number : 63 Question Id : 47163916770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
nsolicited e-mail adwertising is knowrl as

Options :
= ¥ Spam

Question Number : 63 Question Id : 47163916770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
OTFLIBOMT - ONS-T§er0 DEODEN’ SODEF) DoErd?

Options :

BN

Question Number : 64 Question Id : 47163916771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Information is a

Options :

1. % Processed data



Question Number : 64 Question Id : 47163916771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

RDATC0 e90d:

Options :

EMDeD &Qb PO o)a03I°e0)
1. ¢

Question Number : 65 Question Id : 47163916772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
[FR 15

Options :

2. ¥ Intellectual Property Rights

Question Number : 65 Question Id : 47163916772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
‘D.2.036" 90:

Options :
QOLTLIS DY 05y

e =~

>

Question Number : 66 Question Id : 47163916773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

At present arl act to armend and consolidate the law relating to copyright in India, is called:
Options :

= % The Copyright Act, 1957

Question Number : 66 Question Id : 47163916773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
T 08 PR, DOLCERLD DGO &), SEFDY DD DV E?
< > 2 o ~

Options :
& 5P 3¢5 airs, 1957
v < 5]

Question Number : 67 Question Id : 47163916774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

To popularize the library movernent in Andhra Pradesh who conceived the idea of library pilgrimage?
Options :

1. % Iyvanki Venkata Ramanaiah

Question Number : 67 Question Id : 47163916774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



COoT~0DD 505D DRSS DBCOD DOTRETTIDS “Goo~CSD BG OSo7el” oD

€5e5 D 00D DD STAD DGO T

Options :

63021)5053 2056) GaDEICS
1. ¢

Question Number : 68 Question Id : 47163916775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ASCI is popular cormputer Code usead in

Options :
= % Data Cormrmunication

Question Number : 68 Question Id : 47163916775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
.. - Il (ASC-1I) &9 PG50 ToBD ‘BoRP§dd SE o BIS° Treeardd?

Options :
[l sm@é:ﬁ

)

Question Number : 69 Question Id : 47163916776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Each side of standard DVD-EOM can hold up to data.

Options :
1. % 47 GE

Question Number : 69 Question Id : 47163916776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
¢ D &-8 (DVD-ROM) 8 ot DE)© 08 DATarTr) DED DOSHIE?

-2

Options :
, v 4.7 GB

Question Number : 70 Question Id : 47163916777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
It is used to transfer files from one computer to another across the internet and identified as

Options :
2. ¥ FTF

Question Number : 70 Question Id : 47163916777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



S 8306 DTYD) 208 DPD, 208 SoRed e5°D PS5 DO QOE’E SoRTEeS S5°DS

e3P0 0DET DS EDCIIT DEIER0A. ADD DD DeI*CO?

Options :
" d0.8.0 (FTP)

[§1]

Question Number : 71 Question Id : 47163916778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

S3Waal isa projectof ________ and used for ______.

Options :
3. ¥ NIC, generating website of Districts

Question Number : 71 Question Id : 47163916778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DD 3 Cr.d.D.dD (s3 waas) ©d w8 FES & 300 TS EDHAIAFC:

Options :

aA.D.2 (NIC) 270 000500 Soirae=dS DS H6),
3.¥

Question Number : 72 Question Id : 47163916779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& process of altering messages to hide their meaning from adwversaries who might intercept therm is called

Options :

DELETED

Question Number : 72 Question Id : 47163916779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
GOV, RSB D0 Do VBTV EEH0 o) GLoE DTS,

DoBTOND mva‘) aoed eag":);)_ e o eo‘neso:)Q~ DaotIrd) ?

Options :
ooooooooooood.

Question Number : 73 Question Id : 47163916780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A& company with offices in Murmbai, Eangalore, MNew Delhi may connect the LANs for each of those locations to
each other through a

Options :
2 ¥ WAl

Question Number : 73 Question Id : 47163916780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33

28 DoY) B AW, SoRHrW, :(u';gdg) SOOI D erHd (LANS)

R0V0EN0 & 08 &) 8 DENDES” S

Options :
v o (WAN)

>

Question Number : 74 Question Id : 47163916781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Identify the odd term out:

Options :
1. ¥ PC

Question Number : 74 Question Id : 47163916781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& 308 HoreRS” DB ¢ oo God ?

Options :
, o0 (PC)
1. ¢

Question Number : 75 Question Id : 47163916782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
IMouse, trackball and joystick are the example of

Options :
1. % pointing device

Question Number : 75 Question Id : 47163916782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
a3 (Mouse), e°8 ee5 (Trackball) 08asw 200 ?gé(joystick) A3

(= apre lelx[IVE
Options :
1 JranotIoh CPR

Question Number : 76 Question Id : 47163916783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DCigital camera is an example of

Options 3 ' [rput device

Question Number : 76 Question Id : 47163916783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33

G265 3noe (Digital Camera) € 08 o°3 &T°ar06s:

Options :
Lok Q0 DB PR (Input Device)

Question Number : 77 Question Id : 47163916784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

JPEG image format work is best suited for

Options :

1. ¢ photographs and documents with smooth variations of color.

Question Number : 77 Question Id : 47163916784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
.02 (JPG) D8 o & 300 o°DeS° w8 T°I3 e &0502008.

Options :

A @ DD Cod Brren &) T Ty adain HEew.
1. ¢

Question Number : 78 Question Id : 47163916785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

India 20184 Reference Annual is a publication of

Options :

2. % Publication Division, Ministry of Information & Broadcasting

Question Number : 78 Question Id : 47163916785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Q0.0 — 2018’ 09 VoIBNR) BDTOY 2DVE0, S VoY DICER:
Options :

HYTND DD, MAY D Ad D6 XD datL erE 5°RH
2.¢ =

Question Number : 79 Question Id : 47163916786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
UMNESCO Statistical Year Boolk 15 3

Options :
2. % Secondary source of information

Question Number : 79 Question Id : 47163916786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



oY), (UNESCO) fiewos Ddore o788 pso—ad
Options :

" e30000NS (eésob.:) 053)) NATEEO 33760

N

Question Number : 80 Question Id : 47163916787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
India’s first tech park will be established in which state?

Options :
3. ¥ Kerala

Question Number : 80 Question Id : 47163916787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

P08 330 65°D NG FrodHs a»mb D U°§30e56 gvﬁaoaeaaa@oo& ?

Options :
3  30¥

Question Number : 81 Question Id : 47163916788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
All bodies whether large or small fall with the same-

Options :
. % scceleration

Question Number : 81 Question Id : 47163916788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

DY Tor DI D 0N 30TO) & SO0 DA ToD.
Options :

= 0 9B (850es0)

N

Question Number : 82 Question Id : 47163916789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Wwhat is the full form of EEPROM?

Options :
4 ¥ MNone of the given options

Question Number : 82 Question Id : 47163916789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2.2.2.£36.8,.20.(EEPROM) ---- 78 60 D208 ?

Options :



L v D05 08w

Question Number : 83 Question Id : 47163916790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which high lewvel language was developed by Dennis M. Ritchie?
Options :

2 ¥

Question Number : 83 Question Id : 47163916790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ED)D 0.8y B D &) AF oW ‘wroigE’ R Sabectod. ?
° =]
Options :

(3 58
N
>

Question Number : 84 Question Id : 47163916791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
PRAAFTI App is associated with-
Options :

1. % Power Purchase

Question Number : 84 Question Id : 47163916791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Jra) a1r® (PRAAPTI APP) — 823 aa Sabedd &otnod.

Options :

DG §0fren
15 N%:

Question Number : 85 Question Id : 47163916792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The practice of indirect election in India was launched in which of the following year?
Options :

=2 ¥ 1892

Question Number : 85 Question Id : 47163916792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

208 33085 HDOE D) & Do (e923°500 ) G0D0LILICH VodEGo DA?

5 « 1892

=

Options :



Question Number : 86 Question Id : 47163916793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

who among the following was MNOT associated with the revolt of 18577
Options :

2. % Bhagat Singh

Question Number : 86 Question Id : 47163916793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& 308 a°065° 1857 SEDETENL) W02)0H0RD) T°WM IID ?

Options :
a2
> 20D ohH

=

=

Question Number : 87 Question Id : 47163916794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Disguised unemploviment generally means-
Options :

2. ¥ Marginal productivity of labour 15 zero

Question Number : 87 Question Id : 47163916794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
" D3N DB 0" — 908 Jrarrargdo:

Options :

PO DADD0ES’D TS GBS AT 5P,
3. ¢

Question Number : 88 Question Id : 47163916795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The problem of international liquidity is related to the non- availability of -
Options :

2. % Dollars and other hard currencies

Question Number : 88 Question Id : 47163916795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
€90BTPHOOMT GB] DT DV (R0BT) 2GS 3LLE) & 06D

008 T DY DBEB0H.

o S0dai B0 JeEge)

Options :3‘ v



Question Number : 89 Question Id : 47163916796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
C51 wras merged wath C5O0 i
Options :

3.9 1954

Question Number : 89 Question Id : 47163916796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DAV D (CSI) D Dode3yGoeS” D D & (CSO) & Soderdod.

Options :
» 1954

Question Number : 90 Question Id : 47163916797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ERAP stands for :

Options :
2. % Business Reforms Action Plan

Question Number : 90 Question Id : 47163916797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

D. €36.0.0 (BRAP) — e9065
Options :
DEID B0y AIPED F°0

M

Question Number : 91 Question Id : 47163916798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Rankings for Ease of Doing Business is a ready reclkoner for

Options :
1. % Foreign investors

Question Number : 91 Question Id : 47163916798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

053“0 DOETER 2°C U°§)°€95 00D DGOVODIETIS Mo ER) (RS -
@ £ (=3

DB DEVBE TEEED
Options :
Question Number : 92 Question Id : 47163916799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

India lags behind in Ease of Doing Business with regard to



Options :

1. % Paying taxes

Question Number : 92 Question Id : 47163916799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
OBEG30 2P0 Card 75”0 DOGETES” — & HR0S” DAL &N O -

Options :

D) © 28o)
1. ¢ “

Question Number : 93 Question Id : 47163916800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what is Reverse Charge under G5T 7

Options :

= % When recipient of goods pays tax instead of supplier

Question Number : 93 Question Id : 47163916800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2.2.6 (GST) 306 B30y TG * 03 DE) ?

Options :

DDYY DT> BAD I3 LA HPPY) BV T D) Docstro
>

Question Number : 94 Question Id : 47163916801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
FATF stands for :

Options :

2. % Financial Action Task Force

Question Number : 94 Question Id : 47163916801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D, @, O, D (FATF) — e20€3

Options :

DTPADES OIES €7R), 6y
2.
Question Number : 95 Question Id : 47163916802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
Free Float Marlet Capitalisation Weighted Method 15 & method used to calculate
Options :
Z % MNIFTY



Question Number : 95 Question Id : 47163916802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

‘D IS 0) 65 SHOTERD DoVBE WEE * — D DA Y

(L3093 DS &DOIPAI D .

Options :
8 .
o OB (NIFTY)

Question Number : 96 Question Id : 47163916803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Amber Box subsidies refer to
Options :

1. % Trade distortion

Question Number : 96 Question Id : 47163916803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

90820 &35y DDNED — A3 HoerodHodod.

Options :

| @ Tredeg DSyseo (Trade distortion)

Question Number : 97 Question Id : 47163916804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Chairman for Cormmnittes on Banking Sector Reforms , 1991
Options :

= % M. Narasimhar

Question Number : 97 Question Id : 47163916804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

1991 e3°508 De(i VoW),0E0) EDEY eI L.
Options :
5  20. AOVOT0

Question Number : 98 Question Id : 47163916805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
What 15 " Angel Tax " 7

Options :

2. ¥ Tax on venture capital



Question Number : 98 Question Id : 47163916805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
TFC DEVLIC T D) (Angel Tax) €065 e ?

Options :

 DEDLIE FEFD0R SEV)Y
g 2

Question Number : 99 Question Id : 47163916806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Deficit financing is controlled by :
Options :

1. ¥ FREEM Act

Question Number : 99 Question Id : 47163916806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

€585 &0 DoDoGoBE:

Options :
20.236.2). Do. A%
1. v ©

Question Number : 100 Question Id : 47163916807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Incormne redistribution is possible by
Options :

4. ¥ Progressive taxation

Question Number : 100 Question Id : 47163916807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
RITPON) R)R: DoDE0 QL FrG) AT°A0d.

Options :
DO DAy O Do
4. ¥ S5

Question Number : 101 Question Id : 47163916808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Minimum Alternative Tax (MAT ) was introduced in the Budget of
Options :

3. ¥ 1986-87

Question Number : 101 Question Id : 47163916808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



EDR DD DAY (DDA 506 DD e5y) — & E &° HDF DY 0B:
Options : = - &

3 « 1986 — 87

Question Number : 102 Question Id : 47163916809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In Union Budget , what is Primary Deficit ?
Options :

2. ¥ Fiscal Deficit minus Interest Payment

Question Number : 102 Question Id : 47163916809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Ao (306) EE &° FrEDE &% 03 DDEY?

Options :
L o DEOG TrairdS Doe0B0dR 670 PV O 3o

Question Number : 103 Question Id : 47163916810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Foreign Currency Deposits |, Gold Reserves, SDRS and [MF reserves positicon are groupaed as .
Options :

4. % Foreign exchange reserves

Question Number : 103 Question Id : 47163916810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DAY DO ATFRED, LOTPERY) DLED ID.E.£56.I0. 2BOKD 90eTR0D SO

(2.90.29) dexe gvo.u Qe TDYRICER0E:
Options :

DB POE Deren
4.

Question Number : 104 Question Id : 47163916811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Wwhen REI increases Cash -Deposit Ratio (CDR), it implies that :
Options :

1. % Banks will hawve more money to lend

Question Number : 104 Question Id : 47163916811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2r6S0D B6Q e508, DA C R DA DEDIDYE ~ B APDW0A:

Options :



QOWFDS e3(05Hed° DE O e Eotod
- S 3O (o} o) a0

Question Number : 105 Question Id : 47163916812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
"Energy Statistics © is published by
Options :

1. % C50

Question Number : 105 Question Id : 47163916812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DG FBRSY W HSBood
2 e

Options :

Question Number : 106 Question Id : 47163916813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Econormy in which independent contractors and freelancers are employed instead of permanent labourers :

Options :
= ¥ Gig economy

Question Number : 106 Question Id : 47163916813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
FIO 5°0) LOVE LRV, VIBOBITDH MBI, & 916 © DaHINo:S

e_egs D0 -

Options :
) &).)0500(593 €388 DT°V0
v 4 @

Question Number : 107 Question Id : 47163916814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Eestructuring of a company's debt and equity mixture is called

Options :
4. % Recapitalisation

Question Number : 107 Question Id : 47163916814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DB\ 8} 09ICIBODY EoaD G0, PyeD, DADD BJ° &Y SvaNED Qe

€903

Options :



S00 Deverc Do (Recapitalisation)

Question Number : 108 Question Id : 47163916815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what is the purpose of Inter- disciplinary Standing Committes appointed by REI 7
Options :

2. ¥ Cyber security

Question Number : 108 Question Id : 47163916815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
26BN 826 1§08, DOVY0 S LT VOLIOGRMD JFrocoh S T°yED

DO POIIED0 DEN?

Options :
- ¢ D06 DErBE

Question Number : 109 Question Id : 47163916816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Wwhich banlk has got top rank in Digital Transactions 7
Options :

4 % Punjab National Bank

Question Number : 109 Question Id : 47163916816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
CROS EPTeyEd’ ¢° D o &8ad FPRo DB ?

Options :

Yo D02 0ed eJ°50§

Question Number : 110 Question Id : 47163916817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The Cormrmittee on Financial Inclusion (2008 ) was headed by
Options :

1. % C. Rangarajan

Question Number : 110 Question Id : 47163916817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D0 R0ETRD (2008) S0 IO Deyesoes” Doy BabeIC.od?

Options :



. CotT 220

- NV
Question Number : 111 Question Id : 47163916818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Inflation caused by increase in net exports is called :
Options :

1. % Dermand- pull inflation

Question Number : 111 Question Id : 47163916818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DEG DDEVR DD STOLOT B VNB0 DY T°A) QO® OETC:

Options :

Caro&-S ad PAD
o,

Question Number : 112 Question Id : 47163916819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A& price index that is used to adjust GNP for inflation is called :
Options :

1. % GNP deflator

Question Number : 112 Question Id : 47163916819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
AT ONTDS 2.20.0 (GNP) D D80T &DAITH0S GO0 APAD Qe

e90e3°
Options :

/ 2.90.0. ¢ 6 (GNP deflator)
1. ¢

Question Number : 113 Question Id : 47163916820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

MNarrow money M 1) constitutes :

Options :

1. % Currency +coins +demand deposits and other deposits

Question Number : 113 Question Id : 47163916820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

20506 B0 (TFa0d) — HBF &otod:

Options :



| v GO0 + TED + Ao CaRED HBAL RSO R

Question Number : 114 Question Id : 47163916821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& graph which indicates the degree of inequality of wealth distribution is called :

Options :
2 % Lorenz curve

Question Number : 114 Question Id : 47163916821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

G DoDEISD DATVB FonD Ardod T (T HEx0):
Options :
& e e5°Go® 58 B

Question Number : 115 Question Id : 47163916822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The process where the cassettes that hold cash in ATMs are modified to suit the size of the currency is called

Options :
4 % Reralibration

Question Number : 115 Question Id : 47163916822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2.63.90. &6’ ey D G SRS DIAD £0y pard 08 S Do)

Qe® e90ePA):

Options :
8 59800 (B36A 38D 0T Her0)

Question Number : 116 Question Id : 47163916823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Innowvations Theory of Business Cycles was explained by :

Options :
1. % Joseph Schurnpeter

Question Number : 116 Question Id : 47163916823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
TG DT D APBD DS DB -

Options :



SO R & 66
1. ¢

Question Number : 117 Question Id : 47163916824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The concept of ¥-inefficiency was introduced by -
Options :

4. % Leibenstein

Question Number : 117 Question Id : 47163916824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

5y-ad DRCDAY (X-inefficiency) DB DDIDGOA:

Options :

- T0NS POV
4.9

Question Number : 118 Question Id : 47163916825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The trade-off between inflation and unemplovment is explained by
Options :

2. ¥ Philips curve

Question Number : 118 Question Id : 47163916825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
GO0 BT DWMEH0 DAY &) ‘BE 8D D DBood:

Options :

DODy D8hHS
o

Question Number : 119 Question Id : 47163916826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The concept * Kinked Dermand Curve * 15 associated with which market ?

Options :
1. % Oligopoly

Question Number : 119 Question Id : 47163916826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
808 & c.arof 864 (Kinked Demand curve) e &0 D 070,65 &

€900V 0G:

Options :



5,8 &I

&

Question Number : 120 Question Id : 47163916827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
FREM Act was introduced in 2003 for .

Options :
3. % Fiscal discipline

Question Number : 120 Question Id : 47163916827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

2D.¢56.90.d20 o (FRBM Act) 2003 &° 8 800 Jrdodosercod:

Options :

9 v 9, -
5 o SIVESHAST S

Question Number : 121 Question Id : 47163916828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The concept of” Menu Costs " is incorporated in

Options :
2. ¥ Imperfect competition

Question Number : 121 Question Id : 47163916828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
‘A S"QD’ (Menu Costs) e 2o @00e5°D3 &3 0 0EIEIC 00:

Options :
) BRDODD D%

Ll

Question Number : 122 Question Id : 47163916829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
* Paradox of Thrift” was popularised by

Options :
1. % Keynes

Question Number : 122 Question Id : 47163916829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ToeSy 4D 8’ (Paradox of Thrift) — D8 H©) e HTCo €578 DA\ 0b:

| & 3D
Options :



Question Number : 123 Question Id : 47163916830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Minimum payments required to keep a factor of production in its present use is called
Options :

3. ¥ Transfer earnings

Question Number : 123 Question Id : 47163916830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
208 EBDS'D 2T FEBI DAXDE DTS 95060E] DY) BYoHDY D

:ooc:)oaoeﬁ‘ Q0o ?

Options :

& 288 Dodreden (Transfer eamings)

Question Number : 124 Question Id : 47163916831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Who among the following intellectuals considered profit as surplus value that the producers obtain by
exploiting labourers :

Options :
1. ¥ Karl Marx

Question Number : 124 Question Id : 47163916831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

&1 308 TP’ DD P23 DD DT 5°0) Dy EDC Sabero oo
ED T°0RD ToMEOT) 6 II*y0O?

Options :
576 ard
1.¢ 7 A

Question Number : 125 Question Id : 47163916832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Expenditure Tax in Independent India was first introduced by
Options :

2. % T T. Krishnarmachari

Question Number : 125 Question Id : 47163916832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

AYB0Q 268 33085 ANGAIB ‘AN DAY’ O PDFDH0S:

5 o 8.6. 5Harard

[

Options :



Question Number : 126 Question Id : 47163916833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Who coined the term Byte 7
Options :

2. % ‘Werner Buchholz

Question Number : 126 Question Id : 47163916833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

£3¢5 (Byte) €9 ard eras DT GPT0B00B DD ?

Options :
D0\ 6 SN\

>

Question Number : 127 Question Id : 47163916834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A variable not influenced by other variables in the equation is krnown as
Options :

4. ¥ Independent

Question Number : 127 Question Id : 47163916834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 128 Question Id : 47163916835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

what is the full form of USE as used in computer related activities?
Options :

3. % Universal Serial Bus

Question Number : 128 Question Id : 47163916835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 129 Question Id : 47163916836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Fathorn is the unit of

Options :

= ¥ Depth

Question Number : 129 Question Id : 47163916836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
- / :v!.‘.:g;

Question Number : 130 Question Id : 47163916837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The difference between memory and storage is that memory is and storage is.
Options :

1. % Temporary; permanent

Question Number : 130 Question Id : 47163916837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D03, FBE & &) B Daoes, ad Toz

Options :

Bon00. 28,0
1. ¢

Question Number : 131 Question Id : 47163916838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In computer, the length of a word is measured in-
Options :

1. ¥ Bits

Question Number : 131 Question Id : 47163916838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Soa5eaby &5° 28 DO TEHD D Do FenTry?

Options :

Bedy

1. ¢
Question Number : 132 Question Id : 47163916839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The cormrmunication line between CPU, memory and peripherals 1s called a-



Options :

1. % Bus

Question Number : 132 Question Id : 47163916839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. ¢ 09

Question Number : 133 Question Id : 47163916840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which of the following is called the third pillar of World economies?
Options :

2. ¥ world Trade Crganization (WTO)

Question Number : 133 Question Id : 47163916840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 134 Question Id : 47163916841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate which of the followings is not false?

Options :

= ¥ Gross profit - Operating expenses = Operating profit

Question Number : 134 Question Id : 47163916841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& 308 °3e5° DO 6@3‘5"8 Qrdociod.?
Options :
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Question Number : 135 Question Id : 47163916842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

which section of the Andhra Pradesh Reorganization Act, 2014 has recognized Polavaram project as a
Mational project?

Options :
2. % Section 90



Question Number : 135 Question Id : 47163916842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
» @ PES 90

Question Number : 136 Question Id : 47163916843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
According to 14" Finance Commission the division between basic and performance

grant is on the basis of

Options :
1 « 80:20

Question Number : 136 Question Id : 47163916843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

)
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Question Number : 137 Question Id : 47163916844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Real time governance society (RTGS) was launched in Andhra Pradesh on?

Options :
| 26" November 2017

Question Number : 137 Question Id : 47163916844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2206 DB PENL0S” I 0D TRD DAOD DBIOT® VOO B DV FEoDOVIA.
Options :

1 o 26, dd0e6, 2017

Question Number : 138 Question Id : 47163916845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33
As per Certral Statistical Organizaticon (C5O) guidelines the per capita income 1s estimated by

Options :
4. % MNone of the given options

Question Number : 138 Question Id : 47163916845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 139 Question Id : 47163916846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Andhra Pradesh Gross State Dormestic Product (GSDF) growth rate as per 2017-18 (AE) at constant prices is

Options :
4 % 1122 Percent

Question Number : 139 Question Id : 47163916846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

0,
4V 11.22%

Question Number : 140 Question Id : 47163916847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
As per Z2017-18 (AE) at current basic prices agricultural sector cortribution in Andhra Pradesh

Options :
1. % 24 37 Percent

Question Number : 140 Question Id : 47163916847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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- 34.37 %

‘Question Number : 141 Question Id : 47163916848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Growth rate (%) April to October 2017 over April to October 2016 Comrmnon Price Index numbers for individual
workers in Andhra Fradesh is?

Options :
4. ¥ 2 5 Percent

Question Number : 141 Question Id : 47163916848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

2016 JDOHNS - 9§26 & FOV 2017 ADODS - 0§25 &S 0TS
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Options :
4- / 2.50/0

Question Number : 142 Question Id : 47163916849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The Zentral Statistical Crganization (C5O) Government of India have shifted the basic vear of the GDP
estimnates from 2004-05 to

Options :
1.9 2011-12

Question Number : 142 Question Id : 47163916849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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FONTVE S8 H0STPITR), 2004 — 05 05 D035 IB0 DO 6 )¢38 B 0B.

W/

Options :

Question Number : 143 Question Id : 47163916850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In2017-18 Andhra Pradesh per capita income was
Options :

4. % Rs. 142054

Question Number : 143 Question Id : 47163916850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Qhestion Number : 144 Question Id : 47163916851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Under vision 2029, Andhra Pradesh State target of Compound Annual Growth Rate (CAGR) till 2029 would be

Options :
3. % 12 Percent

Question Number : 144 Question Id : 47163916851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
0
2 o 12%

Question Number : 145 Question Id : 47163916852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
[OT stands for

Options :
2. ¥ Internet of Things

Question Number : 145 Question Id : 47163916852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 146 Question Id : 47163916853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Production of Food grains in1 Andhra Pradesh state in 2017-15

Options :
1. % 157 59 Lakh Tons

Question Number : 146 Question Id : 47163916853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 147 Question Id : 47163916854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The base year for consumer price index for agricultural labour in Andhra Pradesh

Options :

4 » 1986-87 = 100

Question Number : 147 Question Id : 47163916854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
. 1986 - 87 = 100

Question Number : 148 Question Id : 47163916855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

During 2017-15 financial vears in Andhra Pradesh owr tax revenue is
Options :

3. % Rs 53717 crores

Question Number : 148 Question Id : 47163916855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 149 Question Id : 47163916856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The application dewveloped by Microsoft 1o manage day to day activities in Civil Supplies Departiment and
Andhra Pradesh State Civil Supplies Corporation Ltd. For

Options :
3. ¥ Kaizala Application

Question Number : 149 Question Id : 47163916856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 150 Question Id : 47163916857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
As per 2017-15 (RE) Interest paid towards debt in Andhra Pradesh state is

Options :
1. % Rs 14 783 crores

Question Number : 150 Question Id : 47163916857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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